SplashLearn

Comparison Word Problems

Write the correct equation to find the answer.

Sophia got 21 coins in a video game. Jeff got 3 fewer coins than Sophia.
Mike got 6 more coins than Jeff. How many coins did Jeff and Mike get?

Sophia 21
3 :
Jeff < > 6
!
Mike
Jeff got coins. Mike got coins.

Louis used 19 building blocks to build a tower. Andrew used 5 more building blocks than
Louis. Emma used 7 fewer building blocks than Andrew.
How many building blocks did Andrew and Emma use?

|
Louis 19 45—>:
I
Andrew
|
Emma <—>:
Andrew used building blocks. Emma used building blocks.




